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Ajuste sin pesar errores:

B (y-intercept) = 6.8514874581725e+01 +/- 5.3622706078658e+00

A (slope) = -1.8229926646243e-01 +/- 5.6761329898631e-02

--------------------------------------------------------------------------------------

Chi^2/doF = 1.5688520630814e-01

R^2 = 0.9821841060194

Adjusted R^2 = 0.9770938505964



  

Ajuste pesando errores:

A = -1.7994626481960e-01 +/- 2.2869041884147e-02

B = 6.8288874043152e+01 +/- 2.1624811179033e+00

--------------------------------------------------------------------------------------

Chi^2/doF = 1.5325600580497e-01

R^2 = 0.9825099614596

Adjusted R^2 = 0.9775128075909



  



  



  



  

Expresión: a^0.5*((2*x0+D)^0.5+(2*x0-D)^0.5)/2

a = 3.2987647756442e+01 +/- 8.6316283908384e-01

x0 = 5.4488691644540e+01 +/- 9.6150922394345e-01

--------------------------------------------------------------------------------------

Chi^2/doF = 3.2433523187863e-01

R^2 = 0.9835552039002

Adjusted R^2 = 0.9671104078003
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i
=(60±1) cm/s



  


